
Mrs W’s Maths 19 ANSWERS 

Rounding decimals REVISION part 1 

 

1   Use these numbers and the number line to help complete 

 the sentences below. 
          
 

 

 
 

49 is closer to 50 than 40 

27 is closer to 30 than 20 

83 is closer to 80 than 90 

61 is closer to 60 than 70 

   

2   Where do these numbers go on the number line? 

 

 
   

 
 

Now use the numbers to complete these sentences  
 

 4.9 is closer to 5 than 4 

 2.7 is closer to 3 than 2 

 8.3 is closer to 8 than 9 

 6.1 is closer to 6 than 7 

 

3   What whole numbers (integers) do these decimal numbers lie between?  

(The first one has been done) 

 

14   <  14.8  <   15 

1    <  1.4  <    2 

65    < 65.3    66 

0    < 0.7  <   1 

98  <  98.6  <  99 

 

4   Now complete these number sentences.  The first one has been done. 

 

  14.8 is closer to 15 than 14 

  1.4 is closer to 1 than 2 

  65.3 is closer to 65 than 66 

  0.7 is closer to 1 than 0 

  98.6 is closer to 99 than 98 

                                         

2.7 6.1 4.9 8.3 

27 61 49 83 


